( Fpk 26 &£ 1 BA%H)

# A B SF N X R
H26.1.6 |77 2R —XH (1 A%&) 9,333
H26.1.7 |2 E—U—X¥ (1A%) 61, 950
H26. 1.7 |2 E—#&ERM (12A5) 29,155
H26.1.7 |41 52 —xv FEEE (12A%) 2, 940
H26. 1. 10 |[FFREA & DEBHi= & DBRHRSENK 6, 080
H26. 1. 10 [BiFBBBIEZ (T AN 1,280, 000

H26. 1. 14| TIFAIEXD ) BEEeR (201451 ~12A %) 4, 500
H26.1.16|25 vy FJ74JL* 1 Off 1,000
H26.1.21 |27 2 REFEH (1 AH) 4,219
H26. 1. 21 |Ea R &R ARERERA 600
H26. 1. 23| EesesiEl (1 A9) 3,925
H26. 1. 23| TABA%RE1 (1 A%) 1,835
H26. 1. 24 %)%1%[@*4$%Fﬁﬁ?ﬂﬁ (12A. X8 115, 220
H26. 1. 24 %;%ﬁ:ﬂﬁ*i%%ﬁﬁﬁ?ﬂﬁ (12, EX—8 100, 415
H26. 1. 24 |=%/EHKRS (1 A) 213, 780
H26.1. 24 |=#%/AEKRS (1 A) 298, 620
H26. 1. 25 égggjsi%ﬁ?ﬁéﬁgﬁ[ﬁﬁii‘ﬁﬁj B 10, 060
H26.1.27(/fva>)—XK (1 A%) 5,607




( Fpk 26 &£ 1 BA%H)

£ H A N N S
H26.1. 27|14 > 5 —*v FEEE (1 A45) 2,940
H26. 1. 27 |2 E—#fERA% (1 A5 37,979
H26.1.27| T=B%E1 TEEHHE] (1A 8,308
H26.1.29| TEAR#RL (1 A%H) 3,925
H26. 1. 30| TEZE#HEI (1 A5) 3,925
H26. 1 31 i*fﬁ%?%?_ k. METRADEEF (80 3 440

A3 22517 m (A —>CH) 290,244 | 1,280,000 989,756
et | EolkE (A=) 2,367,406 | 12,800,000 10,432,594




